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(A) ®-1  (© (D) 1 [110C19)
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% f(x)=4dsinx+cos(2x)+ T éd - MEA m - MABEB M Blm+M =7
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(A) cos@<sin28 <cos28 <sinf (B) sin26 <cos28 < cosf <siné
(C) sin26 <cosf < cos 26 <sinf (D) cos#@ < cos26 <sin 26 <sinf [101C23]

Ans 1 (C)

204



B4 AABC F » £C=90° + D fe BC & fk k » BB KBD=2 - DC=1- AC=3 + n B A}

ke A sBAD =0 -+ £ cosf= 9 4
0
1 1 2 2
N S T o 2 100C13
D B © 5 OF [ :

Ans 1 (D)

205



FIE TR EEMEP - TH PR O0?2(BF 0K cos(a+ f)=cosacos f—sinasin )
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(A) —i (B)—1 ©i (D)1 [100C22])
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Ans (D)

208



RABCD % —4#, » ABC=34B - 5 P8#1 Q8 % BC 2% - BBP=PQ=0C - 4 -
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